\

AP Culculus AB

“/":-b,- X 8
4 ¥z w2 -y G

u’sm_rj L Hq=’ Fuls Rule

L. 3x* _ 3
w32 2x

o M
2 ) A= 21X -2 —%E
R x 2 3]

JSing LIHO{J‘t'J'qu_‘ Rule

o Llx+y= 5
X222 _—_—'J_'_ = LL

$) A X="x +4 52
X2 w3 el | ©
Using L'Hopital's Rule
L. 2x-Y 5 O
X232 szﬁl?— o

e 2 1

X792 6x &

DA xEl e

X B3 _x-2 o
uSmj L' Hﬂflu s Rule
i 3 _ 3

x2] fz'xz-l i I}

) (x) = ﬁ’rﬁ = éﬁ_{

fx)= " o "i)('l&)
- _E_’:,__:
1!) T = Ay F;IT:}:,
. Cosx _
Y™ Ttax = ot x

z)_fm, 5r'~1 5x

c:rlﬁ

ULSmﬁ- L' HﬂP:'I‘Hl‘S [-?.u[ﬁ
Y Sca . 5

x>0

R

X2

u{SMLI L Hopfﬁ
_,gt‘- *-gx_%é-

¥ =] o

ey

.
.

L'Hopral's Rule

Pule

¢) bi. |—sinx -
X2 | +eos2x o
Using L'Heopuhalls Rule

. —Cosx =
X3% -2s5mzx T o
bk St x .
XL eps2e
- =
N
pﬂﬁ?'&?.j
we—
o B | r
e =elnuu Ly _ Y iy 4[&@(
Y e g H(*J = &
pd X
- 4_?)(": LI'?-"B
|
. /
12) ‘f:m = ("1:{ -i"-[x) “
.. =
y'= () - [5x4)
Hx+2 0 Yx+2 Yx +2
Vi Vi 2\x %
= Z2x +|




) §09= o5 b = [em 5] ‘r)r:lﬂﬁ; +
b & e 2 +e™

5= 3 [eos 5x]” d [eos 5x ] 7 o
= 3 [{‘.'os S'x]z-[:-s v 5x -J(Szﬂ “2xe”
\f f:_ e?.}l:(Ex + ]‘)

= 3(eos 5x)*- (-5 sinEx]
~1& cos?Lx51n Lx

U]

15) &2z5
- f0= VX a=27 ¥ ~3-=;'.;-(x-z7)
ulu'l' L’ﬂﬂ'
52,5 £y= S L(x) = 3 + 35(x-21)

L(25) = 3 +21(”"3)

@25}$ 3“2'3

Flys 5-(3)=4

lb) 'PCF):fx; a=o

¥y =1 = 1(x-0)
fo)=1  plx)=€"
floy=1  ExX)=| +1(x-0)
L{o.1) = | +1(0.1)

I-F(ﬂ- D . J_]_




